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QUESTION 1

Before sending a report by email, where must the administrator specify the connection to the mail server?
A. IBM Cognos Connection

B. IBM Cognos Administration

C. Framework Manager

D. IBMCognos Configuration

Correct Answer: D

QUESTION 2

There is a load balancing infrastructure set up in a IBM Cognos Bl environment. In order to disable the IBM Cognos BI
internal load balancing mechanism, what value must be selected for the Load Balancing Mode setting?

A. Custom balancing

B. Cluster compatible

C. Weighted roundrobin
D. Server-side processing

Correct Answer: C

QUESTION 3

Computer 1 is set up as a gateway. Computer 2 is set up as areport server. Computer 3 is set up as a report server.
Computer 4 is set up as a content manager. To avoid performance downgrades as a result of many users running
reports interactively, which of the following configurations will achieve improved performance for report processing?
A. Disable the report service and batch report service on Computer 2.

B. Disable the presentation service on Computer 2.

C. Disable the report service on Computer 3.

D. Disable the presentation service on Computer 4.

Correct Answer: D

QUESTION 4

Which statement describes IBM Cognos Bl architecture?
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A. Communication between components is SOAP on HTTP Protocol.

B. The BIBus is the communication tier of the IBM Cognos Bl architecture.

C. The two-tiered architecture is component based and typically separated by firewalls.

D. The content manager consists of a set of protocols governing communication among IBM Cognos Blservices.

Correct Answer: A

QUESTION 5

An administrator creates a shortcut that points to an invoice report. What happens if the invoice report is renamed?
A. The shortcut contains the original name and can be used to view the latest output before the report was renamed.
B. The shortcut contains the original name and no longer works because the link to the report is broken.

C. IBM Cognos Connection automatically updates the report name in the shortcut, and the shortcut remains fully
functional.

D. IBM Cognos Connection automatically deletes the shortcut.

Correct Answer: B
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